BEXEESLDEM28FEI[BITEE
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(17 &EZ]

4 EBLAIE & Aya
Cle TR E 2843 A -
XF INF [Bfii: uSv/h] | Ay BEE | BFES
17E5E | THF BN i 0.20 1262 03
1718EZ |THF HErm 1B 0.18 1211 01
17E8E | THF R i 0.57 1166 01
17E8E | THF R Eih 0.37 1166 02
17EE | THF L FLF| 0.20 1211 03
178E | THF Z=H TAI7ILE 0.23 1312 03
17E8E | THF #H Eih 0.25 1210 01
17E8E | THF FET Eih 0.41 1210 02
17E8E | THF FET Eih 0.35 1210 03
17E8E | THF AHH] i 0.32 1363 03
17EE | THF AT Eih 0.48 1364 01
17E8E | THF L) TAI7ILE 0.17 1313 04
17E8E | THF i TAI7ILE 0.18 1312 02
17TEE  |EER (F) FEXAT i 0.08 1351 02
17TEE  |EER e Eih 0.16 1350 01
17EE  |EER 1EiR Eih 0.16 1302 02
175E  |[HEER =R BRI 0.09 1352 01
17EE  |EER BB i 0.14 1204 03
17EE  |EER I i 0.19 1353 02
17EE  |EER = Eih 0.23 1160 02
17EE  |EER =R i 0.16 1161 02
17TEE  |EER TTEH i 0.16 1205 03
175E  |[HEER H+ES B 0.15 1303 02
17EE  |EER H+7E5HI i 0.16 1303 03
17EE  |EER %EH i 0.24 1204 01
17EE  |EER SHE i 0.27 1205 01
17EE  |EER INFR 124 0.17 1252 03
17TEE  |EER 158 B 0.21 1302 03
17EE  |EER LB 124 0.24 1353 01
17EE  |EER LB i 0.21 1353 03
175E  |[HEER 5 B 0.22 1252 01
175E  |[HEER A AT B 0.16 1352 03
17EE  |EER ZEb 124 0.19 1351 01
175E  |[HER 7B )| b 0.12 1351 03
17TEE  |EER i B 0.09 1204 02
17EE  |HEER AHEN i 0.21 1253 01
175E  |[HER AHERA b 0.10 1253 02
17EE  |EER JRE i 0.22 1253 03
17EE  |HEER 18 /80 i 0.17 1302 01
17EE  |EER 12 i 0.13 1352 02
17EE  |EER MR B 0.11 1303 01
17EE  |HEER &M i 0.19 1252 02
17EE  |HEER bk 123 0.18 1350 02
17EE  |BAX FHER B 0.14 1403 01
175E  [#E &It B 0.16 1407 02
17EE  |BAX TH#H i 0.30 1456 01
17TEE  |BX T 30 0.21 1498 02
17EE  |BAX TEH i 0.23 1356 03
17TEE  |BAX TEH i 0.23 1357 01
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BIEZAT 4 EBLAIE & Aya
Cle TR E 2843 A -
XF INF [Bfii: uSv/h] | Ay BEE | BFES
17E8E  |BX TiEH i 0.28 1357 02
17TEE  |[#A T Eih 0.21 1404 02
17TEE  |[#A T Eih 0.21 1401 03
17TBE  |#&E SR B 0.15 1401 02
17EE  |BX SIREFH Eih 0.18 1449 02
17EE  |BX iR FLF| 0.16 1408 01
17E8E  |BX iR Eih 0.28 1408 03
17EE  |BX £/’ i 0.22 1451 02
17EE  |BX Eit Eih 0.14 1403 02
17EE  |BX EX Eih 0.20 1402 01
17E8E  |BX EXR i 0.15 1402 02
17EE  |BX mH i 0.10 1407 03
178E  [#X ik BRI 0.08 1407 01
171EE  |#A INGH Eih 0.18 1357 03
17EE  |BX LEFHEH 2 0.13 1498 03
171EE  |#A FRE Eih 0.16 1450 01
17TEE  |BX REAE i 0.16 1450 02
11EE  [#x b LD i 0.14 1450 03
178E  [#K AR BRI 0.17 1451 03
171EE  |#A Al i 0.21 1358 03
17EE  |BX 75 2% | Eih 0.20 1456 02
178E  [#X HiIR BRI 0.14 1401 01
17EE  |BX Rl i 0.28 1408 02
17TEE  |BX iR B 0.13 1400 02
178E  [#K BEAK B 0.17 1358 02
17TEE  |[#A it B 0.17 1350 03
17EE  |BX it FLF| 0.11 1400 01
11EE  |#A it i 0.18 1400 03
17EE  |BX L2 H i 0.24 1456 03
17EE  |BX [ UE; 124 0.08 1402 03
17TEE  |BX JLZ8) i 0.29 1359 02
178E  [#K HE B 0.13 1403 03
17TEE  |BX FURET i 0.17 1449 01
17TEE  |BX BRI i 0.15 1449 03
171EE  |EXH TEH TAI7ILE 0.17 1169 01
171EE  |EXH TR i 0.47 1362 02
171EE  |EXH 3] & i 0.42 1362 03
175 |[#EXF #nEdt b 0.14 1167 03
171E8E  |EXH #Ede i 0.38 1168 01
171E8E  |EXH #Ede i 0.30 1212 01
171E8E  |EXH BHE B 0.41 1083 02
171EE  |EXH BHE B 0.33 1083 03
171EE  |EXH BEER i 0.50 1126 02
17E8E  |EXH b5 =0 =4:0] i 0.42 1125 01
17E8E  |EXH =i5 i 0.40 1082 02
175E |[#EXF Ei5 B F| 0.12 1082 03
17E8E  |EXH Fis 30 0.10 1214 03
17E8E  |EXH AR i 0.31 1261 01
17E8E  |EXH [ i 0.27 1167 01
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BIEZAT 4 EBLAIE & Aya
Cle TR E 2843 A -
XF INF [Bfii: uSv/h] | Ay BEE | BFES
17EE  |EXH R i 0.30 1167 02
171EE |#EXRH HIES 2 0.28 1126 01
171E8E  |EXH HMT Eih 0.46 1081 02
11BE  |HEXH R B 0.38 1124 02
171BE  |HEXH e 1B 0.15 1124 03
17TEE |EXH =5 FLF| 0.14 1038 03
171E8E  |EXH =5 FLF| 0.14 1080 03
171E8E  |EXH BEARFR FLF| 0.14 1079 02
171E8E  |EXH HEAFR i 0.30 1122 01
171BE  |HEXH HEAHE B 0.14 1122 02
171E8E  |EXH BEARFR Eih 0.41 1123 02
171E8E  |EXH HEAFR i 0.38 1166 03
171E8E  |EXH (LI Eih 0.39 1211 02
17TEE  |EXRH ERE i 0.54 1124 01
17E8E  |EXH FHk Eih 0.35 1080 01
17E8E  |EXH ik 2 0.29 1080 02
171E8E  |EXH ik i 0.34 1081 01
171E8E  |EXH ik i 0.28 1123 01
171E8E  |EXH FHk 2 0.35 1123 03
171E8E  |EXH k0O TAI7ILE 0.09 1214 02
17EE |EXH 2R Eih 0.37 1212 02
171E8E  |EXH 2R TAI7ILE 0.13 1213 03
17E8E  |EXH =5 i 0.35 1081 03
17E8E  |EXH 765 i 0.30 1168 02
171E8E  |EXH aH i 0.40 1212 03
17E8E  |EXH aH i 0.37 1259 03
17E8E  |EXH aH i 0.31 1260 03
171E8E  |EXH ks i 0.35 1311 03
17E8E  |EXH XEH TAI7ILE 0.18 1214 04
171E8E  |EXH XEAE TAI7ILE 0.14 1214 01
17E8E  |EXH hEa TAI7ILE 0.17 1213 02
17E8E  |EXH h/hE TAI7ILE 0.27 1127 04
17E8E  |EXH hRE TAI7ILE 0.14 1169 03
171E8E  |EXH BT R TAI7ILE 0.09 1169 02
171EE  |EXH BT #5% TAI7ILE 0.13 1213 01
171EE  |EXH R/ i 0.30 1168 03
171EE  |EXH /N B 0.34 1262 01
171EE  |EXH /N i 0.29 1262 02
171E8E  |EXH N i 0.26 1261 02
171E8E  |EXH N i 0.32 1261 03
175E  |[#EXF BAGE b 0.11 1126 03
171EE  |EXH J\F A i 0.31 1260 02
171EE  |EXH REEGET 123 0.10 1361 02
17E8E  |EXH REEGET 123 0.25 1361 03
17E8E  |EXH eNIIES i 043 1082 01
175E |[#EXF FEG B 0.19 1040 02
17E8E  |EXH b At i 0.37 1311 02
17E8E  |EXH RET i 0.33 1125 02
17E8E  |EXH RET i 0.44 1125 03
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Cle TR E 2843 A -
XF INF [Bfii: uSv/h] | Ay BEE | BFES
178E  |[EXFH RS T AI7ILE 0.18 1215 03
171E8E  |EXH <A Eih 0.35 1311 01
171EE |E% T Eih 0.16 1550 01
171E8E  |E% RH Fh 0.07 1454 01
171EE |E% AifE i 0.17 1454 02
171EE |E% ik Eih 0.24 1504 01
171EE |E% ER Eih 0.21 1549 03
171EE |E% =0 i 0.12 1596 02
171EE |E% +t55H Eih 0.19 1549 01
171EE |E% SEIKGR i 0.30 1455 02
171EE |E% aH i 0.15 1406 01
171EE |E% IR Eih 0.17 1550 02
17E8E  |EH JIRR Eih 0.20 1550 03
171EE |E%H BaEERH Eih 0.21 1503 03
171EE |EH IS Eih 0.35 1503 02
171EE  |E%H BIEERTIIE  |EH 0.21 1503 01
175Z |[EH A/H b 0.17 1502 03
175Z |[EH AT b 0.13 1455 03
17&8E  |EH /AR 2 0.22 1455 01
171EE  |E%H KT i 0.09 1502 01
17&8E  |EH KA i 0.18 1502 02
17E8E  |EH —&NET 2 0.21 1504 03
1715 |[EH B/& B 0.20 1551 03
17EE |EH tB/& i 0.20 1551 01
171EE |E%H B/ B 0.17 1551 02
171EE |EH BEENEE i 0.20 1549 02
17&8E  |E%H I/RE i 0.12 1406 03
17&8E  |E%H $EAH i 0.25 1504 02
175E | L% e B 0.11 1309 01
175E | L% TR 124 0.09 1360 01
17E5E | LHF T i 0.32 1309 03
17EE | LHF TFi5 TAI7ILE 0.10 1307 01
175E | L% TEi5 b 0.22 1307 02
175E | L% #Em i 0.21 1255 01
175E | L% HER i 0.25 1256 01
175E | L% HER i 0.24 1256 03
175E | L% $&E/T i 0.30 1308 02
175E | L% FER i 0.35 1309 02
175E | L% BA i 0.32 1258 02
175% [EHF i b 0.08 1308 01
17EE | LHF b1 i 0.27 1258 01
175E | L% 1ERT i 0.38 1259 02
175E | L% EFi5 123 0.20 1256 02
175E | L% | B 0.24 1257 02
175E | L% RITE i 0.38 1310 02
175%E |[E%HF KR B F| 0.33 1308 03
17EE | LHF KIE TAI7ILE 0.22 1209 02
17EE | LHF K#E B 0.20 1307 04
175%E [E%HF /RN B F| 0.17 1310 03
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Cle TR E 2843 A -
XF INF [Bfii: uSv/h] | Ay BEE | BFES
175E | L% & 4H i 0.27 1358 01
17E8E | L%F it FLF| 0.19 1307 03
17E5E | LHF 2 FLF| 0.14 1257 01
175E | L%HF BT Eih 0.38 1260 01
17EE | ELHF Jtid Eih 0.32 1258 03
17EE | EHF IR Eih 0.32 1310 01
17EE | ELHF AN i 0.25 1257 03
17EE | ELHF F0H i 0.30 1259 01
178E |APR—TH TAI7ILE 0.13 1313 01
178E |APR—TH i 0.08 1313 02
178E |APRETH TAI7ILE 0.15 1313 03
178E |APRETH i 0.15 1313 05
17&8E |BAPR=TH TAI7ILE 0.18 1263 05
17&8E |BAPR=TH i 0.12 1263 06
17&8E |APRETH TAI7ILE 0.11 1312 01
178 |BAPRZTH TAI7ILE 0.14 1263 01
17EE  |BER BEE TAI7ILE 0.11 1162 01
17EE  |BTER N TAI7ILE 0.21 1163 03
17EE  |BER N TAI7ILE 0.10 1164 02
17EE  |BTER EAH Eih 0.29 1254 01
17EE  |BER =E Eih 0.30 1118 01
17EE  |BER =E 2 0.40 1118 02
17EE  |BTER =[E— TAI7ILE 0.13 1209 03
17TEE  |ETER EE= B 0.18 1121 03
17EE  |BTER =R TAI7ILE 0.14 1165 01
17EE  |BTER =R B 0.09 1165 02
17EE  |BTER =R TAI7ILE 0.18 1165 03
17EE  |BTER =R TAI7ILE 0.23 1165 04
17EE  |BTER L B 0.20 1119 01
17EE  |BTER HEHEIR 124 0.21 117 01
17EE  |BTER HEHEIR 124 0.14 117 03
17EE  |BTER fEiR TAI7ILE 0.17 1207 01
17EE  |BTER /T TAI7ILE 0.12 1207 02
17EE  |BTER LN B 0.28 1120 02
175 [ETER 25 b 0.14 1161 01
175 [ETER =T b 0.09 1118 03
17EE  |BTER = | i 0.24 1077 01
17E8E  |BTER = | i 0.20 1077 02
175 [ETER 2R b 0.16 1160 03
17EE  |BTER B/ B 0.21 1120 01
17EE  |BTER RS i 0.36 1077 03
17EE  |BTER RS i 0.28 1119 02
17EE  |BTER R b i 0.36 1122 03
17E5E  |BTER R H B 0.16 1254 03
17EE  |BTER B i 0.30 1078 01
17EE  |BTER W% TAI7ILE 0.14 1164 01
175E  [ETER pid:il] B F| 0.11 1162 02
17EE  |BTER IR E 30 0.20 1075 02
17EE  |BTER IR E i 0.24 1076 03
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Cle TR E 2843 A -
XF INF [Bfii: uSv/h] | Ay BEE | BFES
17EE  |BTER RHA Bt 0.19 1117 02
17EE  |BTER /T Eih 0.24 1076 01
17EE  |BTER /T i 0.28 1076 02
17EE  |BTER +tS2h Eih 0.28 1160 01
17EE  |BTER INER Rt 0.16 1078 02
17EE  |BTER INER FLF| 0.25 1078 03
17EE  |BTER W/F TAI7ILE 0.17 1208 02
17EE  |BTER EEK i 0.18 1115 01
17EE  |BTER EEK B2 0.25 1115 03
17EE  |BTER FrHT av4)—k 0.10 1207 03
17EE  |BTER AHE TAI7ILE 0.15 1209 01
17EE  |BTER PN i 0.44 1079 01
17EE  |BTER N i 0.20 1079 03
175E  [ETER pNE BRI 0.10 1121 01
17EE  |BER p NG 2 0.21 1121 02
17EE  |BTER KYEFE Eih 0.18 1255 03
17EE  |BER G i 0.23 1120 03
17EE  |BTER & TAI7ILE 0.13 1163 01
17EE  |BER & TAI7ILE 0.11 1163 02
17EE  |BTER R TAI7ILE 0.11 1208 01
17EE  |BER R TAI7ILE 0.19 1208 03
17EE  |BER 1ZH TAI7ILE 0.22 1206 03
17TEE  |ETER KiF i 0.19 1161 03
17EE  |BTER REHEE i 0.22 1205 02
17EE  |BTER ST TAI7ILE 0.08 1162 03
17EE  |BTER &5 TAI7ILE 0.43 1206 01
17EE  |BTER &5 TAI7ILE 0.14 1206 02
17EE  |BTER N ET TAI7ILE 0.10 1162 04
17EE  |BTER A} TAI7ILE 0.10 1164 03
17EE  |BTER = B 0.18 1073 01
17EE  |BTER =i B 0.22 1073 02
17EE  |BTER =i B 0.24 1073 03
175 [ETER = b 0.12 1074 01
17EE  |BTER =i i 0.18 1074 02
175 [ETER = b 0.19 1074 03
17EE  |BTER =l B 0.26 1075 01
175 [ETER = b 0.16 1075 03
17EE  |BTER =l B 0.24 1115 02
175 [ETER = b 0.16 1116 01
17EE  |BTER =l B 0.14 1116 02
17EE  |BTER =i i 0.24 1116 03
17EE  |BTER K H i 0.29 1119 03
17EE  |BTER KT i 0.25 1037 01
17EE |1 BAT B 0.15 1454 03
17EE |1t/ T % i 0.15 1452 02
17EE |1t/ T#k i 0.19 1500 01
17EE |1t/ [REFHT 30 0.15 1405 02
17EE |1t/ fEE i 0.20 1405 03
17&8E |t Pk i 0.20 1453 02
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Cle TR E 2843 A -
KF INF [Bfii: uSv/h] | Ay BEE | BFES
17E5E |t i 5T Bt 0.16 1498 01
17EE |t 3V Eih 0.15 1546 01
17EE |t FET i 0.16 1404 03
17EE |t Ak FLF| 0.12 1499 03
17EE |t FHk FLF| 0.12 1500 02
17EE |t Ak Eih 0.19 1547 01
17EE |t &0 Eih 0.15 1596 01
17EE |t FRFk Eih 0.20 1546 03
17EE |t FRFk FLF| 0.15 1547 02
17EE |t FRFk Eih 0.15 1547 03
17EE |t FRFk Eih 0.13 1593 03
17EE |t Bl Eih 0.15 1595 01
17EE |1 LD Eih 0.14 1499 01
17EE |1 KEH Eih 0.23 1453 01
17EE |1 KEH Eih 0.17 1501 02
17EE |1 At Eih 0.22 1404 01
17EE |1 B HET i 0.14 1452 01
17EE |1 AHhEE i 0.14 1501 03
17EE |1 Ak i 0.19 1548 01
17EE |t ik BRI 0.15 1548 02
17EE |t e BRI 0.14 1501 01
17EE |t R 2 0.19 1499 02
175Z [t AR B 0.14 1500 03
17EE |1 Eath B 0.16 1453 03
17&8E |t —RH B 0.10 1405 01
17&8E |t —RH B 0.18 1406 02
17EE |t RS B 0.18 1451 01
17EE |1 b A thEE i 0.18 1452 03
17EE |t RAEN i 0.20 1548 03
17EE |EHBR=TH TAI7ILE 0.18 1264 03
178E |E$PRZTH TAI7ILE 0.14 1264 04
178E |E$hRZTH 124 0.10 1264 05
17&8E |EHhR—TH TAI7ILE 0.19 1314 03
17&8E |EHPR=TH TAI7ILE 0.19 1314 01
17EE |EPRETH TAI7ILE 0.14 1314 02
17&8E |EPRZTH B 0.07 1264 01
17&8E |EPRZTH TAI7ILE 0.14 1264 02
17&8E | ZF1% =i5 i 0.23 1306 01
1715%Z [ZFF R4 b 0.18 1306 03
17&8E | ZF1% INF i 0.23 1355 02
17&8E | ZF1% HFa i 0.19 1355 01
17&8E | ZF1% A B 0.10 1355 03
1715%Z [ZFF HE b 0.14 1356 02
17&8E | ZF1% £t TEXE i 0.26 1305 01
175%E [ZFF & B F| 0.15 1305 03
17E8E | ZF1% X i B 0.18 1254 02
17E8E | ZF1% XFE® i 0.20 1255 02
17E8E | ZF1% XFE® i 0.24 1304 02
17E8E | ZF1% BT i 0.25 1356 01
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BIEZAT 4 EBLAIE & Ay
Cle TR E 2843 A -
XF INF [Bfii: uSv/h] | Ay BEE | BFES
17EE | ZFE% R i 0.24 1305 02
17EE | ZFE% B A Eih 0.17 1304 03
17TEE | ZFE% e/ E 23 0.16 1306 02
17EE | ZFE% BE %4 Eih 0.21 1304 01
17EE | ZFE% BE %4 Eih 0.22 1354 01
17EE | ZFE% BE %4 Eih 0.23 1354 02
17EE | ZFE% BE A HIT i 0.12 1354 03
175 |/\BH O Eih 0.29 1216 01
175 |/\BH FFiEE TAI7ILE 0.15 1215 02
175 |/\BH SRAEAT TAI7ILE 0.10 1170 01
175 |/\BH B AHT TAI7ILE 0.11 1170 02
175 |/\BH A7 FAI7ILE 0.19 1170 04
175 |/\BH $E/0 TAI7ILE 0.17 1215 01
175 |/\BH EEH i 0.15 1172 02
175E [/\BH ;EHE B 0.09 1170 03
175E |dhR—TH 2 0.10 1263 02
175E |dhR=TH TAI7ILE 0.13 1263 03
175E |dHhR=TH Eih 0.13 1263 04




